Introduction to Managerial Accounting, 1st Edition, by Folk, Garrison, and Noreen

Alternate Problems-Set A, Chapter 4


PROBLEM 4-1A

Equivalent Units; Cost Reconciliation—Weighted Average Method

(LO2, LO5)

CHECK FIGURE

(2) June 30 WIP: $3,570

Martin Company manufactures a single product. The company uses the weighted-average method in its process costing system. Activity for June has just been completed. An incomplete production report for the first processing department follows:

	
	Quantity Schedule and Equivalent Units
	
	
	
	

	
	
	Quantity
	
	
	

	
	
	Schedule
	
	
	

	
	Units to be accounted for:
	
	
	
	

	
	Work in process, June 1 (materials 80% complete; labor and overhead 60% complete)

	10,000
	
	
	

	
	Started into production

	64,000
	
	
	

	
	Total units

	74,000
	
	
	

	
	
	
	
	
	

	
	
	
	 Equivalent units (EU) 

	
	
	
	Materials
	Labor
	Overhead

	
	Units accounted for as follows:
	
	
	
	

	
	Transferred to the next department

	68,000
	? 
	? 
	? 

	
	Work in process, June 30 (materials 50% complete, labor and overhead 20% complete)

	  6,000
	   ?    
	   ?     
	   ?     

	
	Total units

	74,000
	   ?    
	   ?    
	   ?    


	
	Cost per Equivalent Unit
	
	
	
	
	
	
	
	

	
	
	Total
	
	
	
	
	
	
	Whole 

	
	
	Cost
	Materials
	
	Labor
	
	Overhead
	
	Unit

	
	Cost to be accounted for:
	
	
	
	
	
	
	
	

	
	Work in process, June 1

	$  11,900
	$  6,800
	
	$  2,100
	
	$  3,000
	
	

	
	Cost added by the department

	  107,270
	  53,550
	
	  22,120
	
	  31,600
	
	

	
	Total cost (a)

	$119,170
	$60,350
	
	$24,220
	
	$34,600
	
	

	
	Equivalent units (b)

	
	71,000
	
	69,200
	
	69,200
	
	

	
	Cost per EU, (a) ÷ (b)

	
	$0.85
	 + 
	$0.35
	 + 
	$0.50
	=
	$1.70

	
	
	
	
	
	
	
	
	
	

	
	Cost Reconciliation
	
	
	
	
	
	
	
	

	
	
	Total
	
	
	
	
	
	
	

	
	
	Cost
	
	
	
	
	
	
	

	
	Cost accounted for as follows:
	
	
	
	
	
	
	
	

	
	?
	?
	
	
	
	
	
	
	


Required:


1.
Prepare a schedule showing how the equivalent units were computed for the first processing department.


2.
Complete the “Cost Reconciliation” part of the production report for the first processing department.

PROBLEM 4-2A

Interpreting A Production Report—Weighted-Average Method

(LO2, LO3, LO4)

CHECK FIGURE 

(1) Materials: 161,000 equivalent units (2) Conversion: $1.45 per unit (3) 144,000 units

Cooperative San José of southern Sonora state in Mexico makes a unique syrup using cane sugar and local herbs. The syrup is sold in small bottles and is prized as a flavoring for drinks and for use in desserts. The bottles are sold for $11.00 each. (The Mexican currency is the peso and is denoted by $.) The first stage in the production process is carried out in the Mixing Department, which removes foreign matter from the raw materials and mixes them in the proper proportions in large vats. The company uses the weighted-average method in its process costing system.


A hastily prepared report for the Mixing Department for April appears below:

	
	Quantity Schedule
	

	
	Units to be accounted for:
	

	
	Work in process, April 1 (materials 100% complete; conversion 95% complete)

	11,000

	
	Started into production

	150,000

	
	Total units

	161,000

	
	
	

	
	Units accounted for as follows:
	

	
	Transferred to the next department

	155,000

	
	Work in process, April 30 (materials 100% complete, conversion 30% complete)

	    6,000

	
	Total units

	161,000

	
	
	

	
	Total Cost
	

	
	Cost to be accounted for:
	

	
	Work in process, April 1

	$  22,810

	
	Cost added during the month

	  599,000

	
	Total cost

	$621,810

	
	
	

	
	Cost Reconciliation
	

	
	Cost accounted for as follows:
	

	
	Transferred to the next department

	$604,500

	
	Work in process, April 30

	    17,310

	
	Total cost

	$621,810



Cooperative San José has just been acquired by another company, and the management of the acquiring company wants some additional information about its operations.

Required:


1.
What were the equivalent units for the month?


2.
What were the costs per equivalent unit for the month? The beginning inventory consisted of the following costs: materials, $19,450;and conversion cost, $3,360. The costs added during the month consisted of: materials, $375,000;and conversion cost, $224,000.


3.
How many of the units transferred to the next department were started and completed during the month?


4.
The manager of the Mixing Department, anxious to make a good impression on the new owner, stated, “Materials prices jumped from about $1.80 per unit in October to $2.50 per unit in April, but due to good cost control I was able to hold our materials cost to less than $2.50 per unit for the month.” Should this manager be rewarded for good cost control? Explain.

PROBLEM 4-3A

Production Report—Weighted-Average Method

(LO2, LO3, LO4, LO5)

CHECK FIGURE

June 30 WIP: $13,150

Sunspot Beverages, Ltd. of Fiji makes blended tropical fruit drinks in two stages. Fruit juices are extracted from fresh fruits and blended in the Blending Department. The blended juices are then bottled and packed for shipping in the Bottling Department. The following information pertains to the operations of the Blending Department for June. (The currency in Fiji is the Fijian dollar.)

	
	
	
	Percent Completed

	
	
	Units
	Materials
	Conversion

	
	Work in process, beginning

	30,000
	100%
	80%

	
	Started into production

	250,000
	
	

	
	Completed and transferred out

	260,000
	
	

	
	Work in process, ending

	20,000
	100%
	45%



Cost in the beginning work in process inventory and cost added during June were as follows for the Blending Department:

	
	
	Materials
	Conversion

	
	Work in process, beginning

	$ 12,000
	$10,800

	
	Cost added during June

	128,000
	83,350


Required:

Prepare a production report for the Blending Department for June assuming that the company uses the weighted-average method.

PROBLEM 4-4A

Step-By-Step Production Report—Weighted-Average Method

(LO2, LO3, LO4, LO5)

CHECK FIGURE 

(2) Materials: $0.74 per unit (3) May 31 WIP: $23,880

Builder Products, Inc., manufactures a caulking compound that goes through three processing stages prior to completion. Information on work in the first department, Cooking, is given below for May:

	
	Production data:
	

	
	Units in process, May 1 (materials 95% complete; labor and overhead 65% complete)

	5,000

	
	Units started into production during May

	80,000

	
	Units completed and transferred out

	70,000

	
	Units in process, May 31 (materials 80% complete; labor and overhead 50% complete)

	?

	
	
	

	
	Cost data:
	

	
	Work in process inventory, May 1:
	

	
	Materials cost

	$ 3,420

	
	Labor cost

	3,710

	
	Overhead cost

	2,760

	
	Cost added during May:
	

	
	Materials cost

	57,260

	
	Labor cost

	83,090

	
	Overhead cost

	65,440



Materials are added at several stages during the cooking process, whereas labor and overhead costs are incurred uniformly. The company uses the weighted-average method.

Required:

Prepare a production report for the Cooking Department for May. Use the following three steps in preparing your report:


1.
Prepare a quantity schedule and a computation of equivalent units.


2.
Compute the costs per equivalent unit for the month.


3.
Using the data from (1) and (2) above, prepare a cost reconciliation.

PROBLEM 4-5A

Preparation of Production Report From Analysis of Work In Process—Weighted-Average Method

(LO2, LO3, LO4, LO5)

CHECK FIGURE

(1) Materials: $1.30 per unit; May 31 WIP $40,105

Weston Products manufactures an industrial cleaning compound that goes through three processing departments—Grinding, Mixing, and Cooking. All raw materials are introduced at the start of work in the Grinding Department, with conversion costs being incurred evenly throughout the grinding process. The Work in Process T-account for the Grinding Department for a recent month is given below:

	
	Work in Process—Grinding Department

	
	Inventory, May 1 (24,000 units, 3/4 processed) 
	47,750
	Completed and transferred to mixing (  ?    units)
	    ?    

	
	May costs added:
	
	
	

	
	Raw material (230,000 units)
	298,567
	 
	

	
	Labor and overhead
	211,348
	 
	

	
	Inventory, May 31 (26,000 units,  1/4 processed) 
	     ?     
	 
	



The May 1 work in process inventory consists of $31,633 in materials cost and $16,117 in labor and overhead cost. The company uses the weighted-average method to account for units and costs.

Required:


1.
Prepare a production report for the Grinding Department for the month.


2.
What criticism can be made of the unit costs that you have computed on your production report?

PROBLEM 4-6A

Costing Inventories; Journal Entries; Cost Of Goods Sold—Weighted-Average Method

(LO1, LO2, LO4, LO5)

CHECK FIGURES

(1) Labor: $0.98 per unit

(2)December 31 WIP: $91,240

(4) COGS: $195,290

You are employed by Spirit Company, a manufacturer of digital watches. The company’s chief financial officer is trying to verify the accuracy of the ending work in process and finished goods inventories prior to closing the books for the year. You have been asked to assist in this verification. The year-end balances shown on Spirit Company’s books are as follows:

	
	
	Units
	Costs

	
	Work in process, December 31 (labor and overhead 30% complete)

	40,000
	$82,500

	
	Finished goods, December 31

	55,000
	$186,000



Materials are added to production at the beginning of the manufacturing process, and overhead is applied to each product at the rate of 50% of direct labor cost. There was no finished goods inventory at the beginning of the year. A review of Spirit Company’s inventory and cost records has disclosed the following data, all of which are accurate:

	
	
	 
	Costs 

	
	
	Units
	Materials
	Labor

	
	Work in process, January 1 (labor and overhead 90% complete)

	35,000
	$53,900
	$29,610

	
	Units started into production

	119,000
	
	

	
	Cost added during the year:
	
	
	

	
	Materials cost

	
	$229,460
	

	
	Labor cost

	
	
	$93,870

	
	Units completed during the year

	114,000
	
	



The company uses the weighted-average cost method.

Required:


1.
Determine the equivalent units and costs per equivalent unit for materials, labor, and overhead for the year.


2.
Determine the amount of cost that should be assigned to the ending work in process and finished goods inventories.


3.
Prepare the necessary correcting journal entry to adjust the work in process and finished goods inventories to the correct balances as of December 31.


4.
Determine the cost of goods sold for the year assuming there is no under- or overapplied overhead.

(CPA, adapted)

PROBLEM 4-7A

Comprehensive Process Costing Problem—Weighted-Average Method

(LO1, LO2, LO3, LO4, LO5)

CHECK FIGURE

March 31 Refining Department WIP: $183,480

Lubricants, Inc., produces a special kind of grease that is widely used by racecar drivers. The grease is produced in two processes: refining and blending. Raw materials are introduced at various points in the Refining Department; labor and overhead costs are incurred evenly throughout the refining operation. The refined output is then transferred to the Blending Department.


The following incomplete Work in Process account has been provided for the Refining Department for March:

	
	Work in Process —Refining Department

	
	March 1 inventory (180,000 gallons; materials 100% complete; labor and overhead 45% complete)
	281,970
	Completed and transferred to Blending (   ?    gallons)
	    ?    

	
	March costs added: 
	
	 
	

	
	Raw materials (900,000 gallons)
	814,380
	 
	

	
	Direct labor
	976,500
	 
	

	
	Overhead
	347,430
	 
	 

	
	March 31 inventory (120,000; materials 90% complete; labor and overhead 50% complete)
	    ?    
	 
	



The March 1 work in process inventory in the Refining Department consists of the following cost elements: raw materials, $157,500; direct labor, $94,500; and overhead, $29,970. Costs incurred during March in the Blending Department were: materials used, $340,000; direct labor, $410,000; and overhead cost applied to production, $270,000.


The company accounts for units and costs using the weighted-average method.

Required:


1.
Prepare journal entries to record the costs incurred in both the Refining Department and Blending Department during March. Key your entries to the items (a) through (g) below.


a.
Raw materials were issued for use in production.


b.
Direct labor costs were incurred.


c.
Manufacturing overhead costs for the entire factory were incurred, $650,000. (Credit Accounts Payable.)


d.
Manufacturing overhead cost was applied to production using a predetermined overhead rate.


e.
Units that were complete as to processing in the Refining Department were transferred to the Blending Department, $2,236,800.


f.
Units that were complete as to processing in the Blending Department were transferred to Finished Goods, $3,190,000.


g.
Completed units were sold on account, $3,900,000. The Cost of Good Sold was $3,000,000.


2.
Post the journal entries from (1) above to T-accounts. The following account balances existed at the beginning of March. (The beginning balance in the Refining Department’s Work in Process account is given above.)

	
	Raw Materials

	$1,260,000

	
	Work in Process—Blending Department

	65,000

	
	Finished Goods

	310,000




After posting the entries to the T-accounts, find the ending balance in the inventory accounts and the manufacturing overhead accounts.


3.
Prepare a production report for the Refining Department for March.

PROBLEM 4-8A

Comprehensive Process Costing Problem—Weighted-Average Method

(LO1, LO2, LO3, LO4, LO5)

CHECK FIGURE

May 31 Cooking Department WIP: $7,000

Hilox, Inc., produces a hot sauce that goes through two departments—Cooking and Bottling. The company has recently hired a new assistant accountant, who has prepared the following summary of production and costs for the Cooking Department for May using the weighted-average method.

	
	Cooking Department costs:
	
	

	
	Work in process inventory, May 1: 43,000 quarts, materials 90% complete and labor and overhead 75% complete

	$  68,570
	*

	
	Materials added during May

	73,700
	

	
	Labor added during May

	33,580
	

	
	Overhead applied during May

	    16,150
	

	
	Total departmental costs

	$192,000
	


	
	Cooking Department costs assigned to:
	

	
	Quarts completed and transferred to the Bottling Department: 100,000 quarts at      ?     per quart

	$      ?    

	
	Work in process inventory, May 31: 10,000 quarts, materials 50% complete and labor and overhead 20% complete

	        ?    

	
	Total departmental costs assigned

	$      ?    




*Consists of materials, $41,800; labor, $17,420; and overhead, $9,350.


The new assistant accountant has determined the cost per quart transferred to be $1.920 as follows:


[image: image1.wmf]Total departmental costs$192,000

== $1.920 per quart

Quarts completed and transferred100,000 

quarts


However, the assistant accountant is unsure how to use this unit cost figure in assigning cost to the ending work in process inventory. In addition, the company’s general ledger shows only $185,000 in cost transferred from the Cooking Department to the Bottling Department, which does not agree with the $192,000 figure above. 


The general ledger also shows the following costs incurred in the Bottling Department during May: materials used, $122,000; direct labor cost incurred, $61,000; and overhead cost applied to products, $35,000.

Required:


1.
Prepare journal entries as follows to record activity in the company during May. Key your entries to the letters (a) through (g) below.


a.
Raw materials were issued to the two departments for use in production.


b.
Direct labor costs were incurred in the two departments.


c.
Manufacturing overhead costs were incurred, $50,050. (Credit Accounts Payable.) The company maintains a single Manufacturing Overhead account for the entire plant.


d.
Manufacturing overhead cost was applied to production in each department using predetermined overhead rates.


e.
Units completed as to processing in the Cooking Department were transferred to the Bottling Department, $185,000.


f.
Units completed as to processing in the Bottling Department were transferred to Finished Goods, $410,000.


g.
Units were sold on account, $550,000. The Cost of Good Sold was $403,000.


2.
Post the journal entries from (1) above to T-accounts. Balances in selected accounts on May 1 are given below:

	
	Raw Materials

	$217,000

	
	Work in Process—Bottling Department

	42,000

	
	Finished Goods

	7,000




After posting the entries to the T-accounts, find the ending balance in the inventory accounts and the Manufacturing Overhead accounts.


3.
Prepare a production report for the Cooking Department for May.
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